1/c do/dB,,

Ratio to ALEPH

=
o
N

10

0.5

onic)

206 GeV ee
]~ T

yI*IZ (Hacjr

mcplots.cern.ch [arXiv:1306.3436]

L &l
e
= M
B T lm
- m ALEPH
--O-- Herwig++ 2.7.1 default
= --3-- Herwig 7.0.0 default
o A~ Herwig 7.0.0 UE-MMHT
| | | | | | |
:l T T T T | T
- &
- & g PN —
@\@,E\ ‘\6/ =
— \\m"(" """""""
| 1 1 1 1 " | " 1
0 0.1

~ ~
> RS
RS
~o 0~
SO
N
N
m-
| I | I |
T | T
.
o N
.
-
-
.
. Al
s G .
. - N,
. -
. -
- o
- s
20 ¢
-
-
ke
-
s
1 L | 1
O . 2

Rivet 3.1.10, = 500k events

N



	Contents
	Page 1


